
 

Doppelangriff mit Läufer und Turm 
 

Findest Du den Gewinnzug ? 
 
 

 

 

 

XABCDEFGHY 
8-+-+-+k+( 
7vLp+-+pzpp' 
6-+-+lsn-+& 
5+-+-+-tr-% 
4-+P+-+-+$ 
3+P+-+-+-# 
2-zPR+-+-zP" 
1mK-+-+-+N! 
xabcdefghy 

Schwarz am Zug gewinnt. 

XABCDEFGHY 
8-vl-+-+k+( 
7+-+-+pzp-' 
6-+-+-+-zp& 
5+-+-+-tr-% 
4l+-+-+-+$ 
3+-+N+L+P# 
2r+-+-zPP+" 
1+-tR-tR-mK-! 
xabcdefghy 

Weiß am Zug gewinnt. 
 

XABCDEFGHY 
8-+-tr-trk+( 
7+l+-vlpzp-' 
6-zp-+p+-zp& 
5+P+-zP-+-% 
4-+-+-+-+$ 
3+-+-sN-+P# 
2-+-+LzPP+" 
1tR-tR-+-mK-! 
xabcdefghy 

Weiß am Zug gewinnt. 

 

XABCDEFGHY 
8-+-+-+k+( 
7tr-+r+lvl-' 
6-zp-+-+pzp& 
5zpP+-+p+-% 
4N+-+-+-vL$ 
3zP-+-tRP+P# 
2-zPR+-+P+" 
1+-+-+-+K! 
xabcdefghy 

Schwarz am Zug gewinnt. 

 
XABCDEFGHY 
8-+-+-trk+( 
7+-+-+pvlp' 
6-zpr+-+l+& 
5zp-+-+-+-% 
4N+-+-vL-+$ 
3zP-+-+-zP-# 
2-zP-+-zP-+" 
1+-+RtR-mK-! 
xabcdefghy 

Schwarz am Zug gewinnt. 

XABCDEFGHY 
8-tr-+r+k+( 
7zp-+-+pvlp' 
6-+-+-+l+& 
5+-+-+-+-% 
4q+-+-+-+$ 
3zPp+-vL-zP-# 
2-zP-+-zPL+" 
1+-tR-tRQmK-! 
xabcdefghy 

Weiß am Zug gewinnt. 


